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Catherine: Hello, welcome to Question and Answer of the week! I'm Catherine and
with me today is Feifei.

Feifei: REUF, Wby (RAFREDY o EXANTT H P RN SME R TOE 2= P BRI
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Catherine: Today's question is from Erik in Taipei.

Feifei: AR R H S Erik. AthAR &8 H 905 R IS5 R, A AR R
B i3 A% B ?
Question

Hi, I'm Erik from Taipei. I would like to know something about the authentic usage of
plurality of numbers. Is it: minus two degree, or minus two degrees,; two point two three
yard, or two point two three yards? On blogs or microblogs, is it minus one character left,
or minus one characters left? And do we say zero kilometre, or zero kilometres? Thank
you!

Catherine: Wow - that's a lot of questions, Erik.

Feifei: Erik f1i@E L EMRL, (HESEXE S afe . TmRINE e,
BN R AT AR ?

Catherine: Erik asked: is it minus two degree, or minus two degrees?

Feifei: XA S TSR temperature. £ F T ENi% & minus two degrees it 2
minus two degree?

Catherine: In this sentence, it's plural. We say: Minus two degrees.

Feifei: HiR i degree Z&nl¥i 4, ArCLX o] L EMEHE A degrees. T i—/M
@, MNiZ two point two three yard i&/& two point two three yards?

Catherine: It's two point two three yards, with 's', yards - plural again. Have you
worked out the rule yet?

Feifei: — AT, IR AR R AT RO, A MR BT B Kb, XA
] AT R R HOE .

Catherine: That's correct. Let's do some examples.
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OK - 15 K.,

Fifteen metres.

6.5 ~H.

Six point five kilogrammes.

7 7%

Seven and a half minutes.

Seven and a half minutes. S R3AT A B0 8,  REZ H SR HOE 2 5 H e ?

A half on its own isn't plural, so we say half a minute.

Fr50 half a minute 52 58, (H¥0ph T L Zm E— ey, #9824 minute mt
BREHT . Xt

Right. Half a minute, two and a half minutes. What's the next question?

NTHNZAN ) R S T R U P F R I, AT Z 1% minus one character left i&
& minus one characters left?

Minus one character left. Single. 'One' is always single, even when it's
minus one.

REHFR—, ARRIE—IEZHA—, #EPf. BEFTR? 208 EH?
We say zero kilometres. Zero seconds.

i zero A& AIEE S . 0.5 WE?

Zero point five millimetres.

o7, BAPREE T, WR-AEGFEITEE. FLENHT, SR NMURK
By s, RARRNIZAR R EHOE A

Yes. Zero kilometres, six minutes, two and a half years, minus eight point
five degrees.

IR AR 2 one B¢ half, 1X IR FH 44 8 808 20

Yes. One inch, half a metre.

47, KT HEAZIZE K T BTSSR 7L PR E1% Erik (1A @ie ?
About four and a half minutes.
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Bye!
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